BREMPREFGETISE(FRMIGE) Wik SH6E 58 108 (&)
Frx
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m B = R O%

() ART=®) (M) (M) (M) (kg)

WA 33.7 ERE 26.5 1,188 1,080 864 15[ %Y
IZALA 18.6 BE K 5.1 2,376 — 2,160 10 vay L
ZIES5 1.8 BRE 1.5 — 2916 — 0] A 2M
ZIES5 N 0.2 - 2,025 - 3 A L
[E<E0 48.9 BERE 47.0 1,944 1,728 1,512 15 A 6
HTE 2.1 BERE 0.6 - 1,080 - 4 A M
ZED 5.6 2 [ 3.9 1,404 1,296 1,188 4l A L
FrRy 117.3 ERE 88.6 1,944 — 1,620 10 8
Fry = I 235 1,620 1,404 1,404 0] A 8
IE5NAZES 2.3 2 [ 1.0 2,160 1,944 1,728 36l A L
hE 6.8 ERE 35 1512 1,404 1,188 3l A L
hE 1.8 i B 1.3 3,240 2,592 2,592 3 L
_hE = [ 0.2 4212 3,564 3,240 3 vay M
125 2.7 = I 1.1 3,240 2,700 2,160 5/ A M
R 0.9 2 0.6 3,564 — 3,456 0] A L
FARINTGHR 0.5 AL O — 151 — 0.1 A
HhI757— 0.3 B X 0.3 - 3,024 - 4 6
JOvyal)— 3.8 BE X 2.6 6,480 4936 3,456 6] A 20
LARZR 36.2 E & 24.6 1512 1,188 1,080 10 12
FoT YA 1.4 = [ 0.7 — 648 — 2 L
=5l 16.4 BRE 10.5 1,728 1,296 1,188 5/ A L
=p5Y =0 5.6 - 2,052 - 10
ANESSED) 21.6 - 14.1 1512 1,080 1,080 10l vay 8
ANESSES) BRE 7.2 — 1,404 — 0] A S
Y 3.6 EES 3.3 - 648 — 5[ 13y
He BRE 0.3 3,456 — 3,024 8] B L
k< 10.3 BRE 5.5 216 194 162 05 ¢ S
k2 EES 4.1 130 — 119 0.5 6
I=kTh 4.0 BRE 3.4 130 97 86 02 A M
= = I 0.3 103 — 97 02 A M
E—<> 10.5 BERE 8.9 5,832 4,860 4644 7.8 A M
E53ACL 15 E 5 0.8 3,110 2,592 2,592 5/ A L
T35 0.4 BRE 0.4 140 97 92 008] A M
[2H5Y 0.5 BRE 0.5 1,814 1,620 1,512 3l A M
SPVAITFA 0.2 BRE 0.2 3,456 1,944 1,944 2l A
SPZAES 0.1 E X 1,944 - 1,836 1] vay L
ZHEDH
MrAL& 5.1 E X 3.6 2,430 2430 1,998 5 M
[E€ AT 15.2 BRE 2.7 — 972 — 10
[ECTRYNS BRE - 119 — 1
=L 0.1 BRE 0.1 — 5,940 — 0] A 25
AL 0.5
=FhE 446 JtigE - — - PR
f=Fh&E = B 445 3,024 2,700 2592 20 va9 L
A1z 0.7 5 # 0.5 2,268 — 2,160 1 A L
5oE&LD 2.2 BRE 2.2 5,940 5,400 5,076 0] A M
ELLV=T 0.9 BRE - 108 - 0.1 Y L
HELLV=IT =l 0.6 130 130 97 0.1 A M
ZDELET 25 E I 2.0 86 75 75 0.2 A
LHL 15 2 [ 1.5 97 86 86 0.2
S ER T 431.1
B=

o fm B & E i = & hfE =7 & £ B

m B = O

() ATT=®) (M) (M) (M) (kg)

BMAMAET
INDRH A
HEDHHIA 2.9 BIR 2.9 1,944 — 1,404 10| 7hYa M
LEY 0.5 TA)H 0.5 10,260 10,260 9,720 17 165
INLULT 0.9 TA)H 0.9 8,640 8,100 2,700 17 1133
L7y 0.1 T A)H 0.1 6,804 — 5,238 15 40
HEE 0.9
YATE 11.0
3+TI)LK 4.0 5 & 4.0 7,020 6,048 6,048 100 46
AL 6.4 5 & 6.4 5,940 5,940 5,292 10 vay 46
UhH 0.3 E & 0.2 - 2,765 - 8 44
58 0.3 12 [ 0.2 — 1512 — 2 A 3L
SESE 0.1
To9Jz7F 2 [ - - - PR LL
T5917F 12 - 756 — 0.25] 7hva L
To9x7F B2 [ - - - PR M
W5 3.4 BRE 25 378 302 281 025 A LL
AOVEF 10.6
7—ILA 0.7 BRE 0.7 — 1,944 — 2 1
AH3 0.1 = I 0.1 - 3,240 — 5/ A 4L
ZFDAOY 9.5 BRE 6.1 — 3,672 — 4
ERRYOY1s 7.7
FLAH 55 EES 4.4 4,320 — 3,888 12 M
CEETLVH 2.3 BRE 1.2 — 6,480 — 0] A 5
INFF 15.5 EYEY 15.3 3,996 2,808 2,700 15
NAFyFTIL 49 EYEY 4.6 3,024 2,700 2,376 10 8
FoA4T)LY 1.9 —oT 1.9 6,156 4,050 4,050 75 4
RERET 64.9




